REVUE D'ANALYSE NUMÉRIQUE ET DE THÉORIE DE L'APPROXIMATION
Rev. Anal. Numér. Théor. Approx., vol. 32 (2003) no. 2, pp. 177-186 ictp.acad.ro/jnaat

FISHER'S INFORMATION MEASURES AND TRUNCATED NORMAL DISTRIBUTIONS (II)

ION MIHOC* and CRISTINA IOANA $\ensuremath{\mathsf{F}\mathsf{A}\mathsf{T}\mathsf{U}}^\dagger$

Abstract. The aim of this paper is to give some properties for the Fisher information measure when a random variable X follows a truncated probability distribution. A truncated probability distribution can be regarded as a conditional probability distribution, in the sense that if X has an unrestricted distribution with the probability density function f(x), then $f_{a\leftrightarrow b}(x)$ is the probability density density function of X, subject to the condition that X is known to lie in [a, b].

MSC 2000. 94A17.

Keywords. Fisher information, truncated distribution.

1. FISHER'S INFORMATION MEASURE

Let X be a continuous random variable on the probability space (Ω, K, P) and having the probability density function $f(x; \theta)$ which depends on a real parameter $\theta \in D_{\theta} \subseteq \mathbb{R}$, D_{θ} being the parameter space. Then we are confronted not with one distribution on probability, but with a family of distributions, which will be denoted by the symbol $\{f(x; \theta) : \theta \in D_{\theta}\}$. Any member of this family of probability density functions will by denoted by the symbol $f(x; \theta)$, $\theta \in D_{\theta}$.

Let $S_n(X) = (X_1, X_2, \ldots, X_n)$ denote a random sample of size n from a distribution that has a probability density function which is one member (but which member is not known) of the family $\{f(x; \theta) : \theta \in D_{\theta}\}$ of the probability density functions. That is, our random sample arises from a distribution that has the probability density function $f(x; \theta), \theta \in D_{\theta}$. Our problem is that of defining a statistic $\hat{\theta} = t(X_1, X_2, \ldots, X_n)$ so that, if x_1, x_2, \ldots, x_n are the observed experimental values of X_1, X_2, \ldots, X_n , then the number $t(x_1, x_2, \ldots, x_n)$ will be referred to us an estimate of θ and is usually written as $\hat{\theta}_0 = t(x_1, x_2, \ldots, x_n)$. To evaluate estimators we need some definitions.

DEFINITION 1. An estimator $\hat{\theta} = t(X_1, X_2, \dots, X_n)$ is a function of the random sample vector

$$S_n(X) = (X_1, X_2, \dots, X_n)$$

^{*&}quot;Babeş-Bolyai" University, Faculty of Mathematics and Computer Science, str. M. Kogălniceanu 1, 3400 Cluj-Napoca, Romania, e-mail: imihoc@math.ubbcluj.ro.

[†]"Dimitrie Cantemir" University, Faculty of Touristic and Trade Management, 3400 Cluj-Napoca, Romania, e-mail: cfatu@cantemir.cluj.astral.ro.

(a statistic) that estimates θ but is not dependent on θ .

DEFINITION 2. Any statistic whose mathematical expectation is equal to a parameter θ is called an unbiased estimator. Otherwise, the statistic is said to be biased.

DEFINITION 3. Any statistic that converges stochastically to a parameter θ is called a consistent estimator of the parameter θ , that is, if we have

$$\lim_{n \to \infty} P[|\hat{\theta} - \theta| \le \varepsilon] = 1, \quad \text{for all } \varepsilon > 0.$$

DEFINITION 4. An estimator $\hat{\theta} = t(X_1, X_2, \dots, X_n)$ of θ is said to be a minimum variance unbiased estimator of θ if it has the following two properties:

- a) $E(\hat{\theta}) = \theta$, that is, $\hat{\theta}$ is an unbiased estimator;
- b) $\operatorname{Var}(\hat{\theta}) \leq \operatorname{Var}(\theta^*)$, for any other estimator $\theta^* = h(X_1, X_2, \dots, X_n)$ which is also unbiased for θ , that is, $E(\theta^*) = \theta$.

In the following we suppose that the parameter θ is unknown and we estimate a specified function of θ , $g(\theta)$, with the help of statistic $\hat{\theta} = t(X_1, X_2, \ldots, X_n)$ which is based on a random sample of size n, $S_n(X) = (X_1, X_2, \ldots, X_n)$, where X_i are independent and identically distributed random variable with the probability density function $f(x; \theta), \theta \in D_{\theta}$. The joint probability density function of X_1, X_2, \ldots, X_n , regarded as a function of θ , has the following form

$$L(x_1, x_2, \dots, x_n; \theta) = \prod_{i=1}^n f(x_i; \theta), \theta \in D_{\theta},$$

where $L(x_1, x_2, ..., x_n)$ is called the likelihood function of the random sample $S_n(X) = (X_1, X_2, ..., X_n).$

If x_1, x_2, \ldots, x_n are the observed experimental values of X_1, X_2, \ldots, X_n , and we can find a nontrivial function of x_1, x_2, \ldots, x_n , say $t(x_1, x_2, \ldots, x_n)$, such that, when θ is replaced by $\hat{\theta}_0 = t(x_1, x_2, \ldots, x_n)$, the likelihood function Lis a maximum, that is, $L(x_1, x_2, \ldots, x_n; t(x_1, x_2, \ldots, x_n))$ is at least great as $L(x_1, x_2, \ldots, x_n; \theta)$, for every $\theta \in D_{\theta}$, then the statistic $\hat{\theta} = t(X_1, X_2, \ldots, X_n)$ will be called a maximum likelihood estimator of θ (the observed value of $\hat{\theta}$, that is, the real number $\hat{\theta}_0 = t(x_1, x_2, \ldots, x_n)$, will be called the maximum likelihood estimate of θ).

A well known means of measuring the quality of the statistic

$$\hat{\theta} = t(X_1, X_2, \dots, X_n)$$

is to use the inequality of Cramér–Rao which states that, under certain regularity conditions for $f(x; \theta)$ (more precisely, it requires the possibility of differentiating under the integral sign) any unbiased estimator of $g(\theta)$ has variance which satisfies the following inequality

where

$$I_X(\theta) = \int_{\Omega} \left(\frac{\partial \ln f(x;\theta)}{\partial \theta}\right)^2 f(x;\theta) dx = \int_{\Omega} \frac{1}{f(x;\theta)} \left(\frac{\partial f(x;\theta)}{\partial \theta}\right)^2 dx,$$

and

$$\begin{split} I_n(\theta) &= E\Big[\Big(\frac{\partial \ln L(x_1, x_2, \dots, x_n; \theta)}{\partial \theta}\Big)^2\Big] \\ &= \int_{\Omega} \cdots \int_{\Omega} \Big(\frac{\partial L(x_1, x_2, \dots, x_n; \theta)}{\partial \theta}\Big)^2 L(x_1, x_2, \dots, x_n; \theta) \mathrm{d}x_1 \dots \mathrm{d}x_n \\ &= n E\Big[\Big(\frac{\partial \ln f(x; \theta)}{\partial \theta}\Big)^2\Big] \\ &= n \int_{\Omega} \Big(\frac{\partial \ln f(x; \theta)}{\partial \theta}\Big)^2 f(x; \theta) \mathrm{d}x, \end{split}$$

The quantity $I_X(\theta)$ is known as Fisher's information measure and it measures the information about $g(\theta)$ which is contained in an observation of X. Also, the quantity $I_n(\theta) = n \cdot I_X(\theta)$ measures the information about $g(\theta)$ contained in a random sample $S_n(X) = (X_1, X_2, \ldots, X_n)$, when X_i , $i = \overline{1, n}$, are independent and identically distributed random variables with density $f(x; \theta), \theta \in D_{\theta}$. An unbiased estimator of $g(\theta)$ that achieves this minimum from (1) is known as an efficient estimator.

Moreover, the right-hand side of the Cramér–Rao inequality is, for each $\theta \in D_{\theta}$, a lower bound for the variance of an unbiased estimator. The unbiased estimator for which this bound is attained are said to be efficient.

2. THE TRUNCATED NORMAL DISTRIBUTION

Let X have a normal distribution with probability density function

(2)
$$f(x;m,\sigma^2) = \frac{1}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2}\left(\frac{x-m}{\sigma}\right)^2\right\}, \quad x \in \mathbb{R},$$

where the parameters m and σ must satisfy the conditions $m \in \mathbb{R}, \sigma > 0$. The mean and the variance of X are

ican and the variance of A are

$$E(X) = m$$
, $D^2(X) = \operatorname{Var} X = \sigma^2$,

which shows that the parameters m and σ have their usual significance as the mean and the standard deviation of the distribution. If the random variable X obeys the normal probability law with mean m and standard deviation σ , then we shall use the symbols $X : N(m, \sigma^2)$.

DEFINITION 5. We say that the random variable X has a normal distribution truncated to the left at X = a and to the right at X = b if its probability density function f is of the form

(3)
$$f_{a \leftrightarrow b}(x; m, \sigma^2) = \begin{cases} \frac{k(a, b)}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2}(\frac{x-m}{\sigma})^2\right\}, & \text{if } a \le x \le b, \\ 0, & \text{if } x < a, \\ 0, & \text{if } x > b, \end{cases}$$

where the constant k(a, b) is determined from the conditions

1°.
$$f_{a\leftrightarrow b}(x;m,\sigma^2) \ge 0$$
, if $x \in (-\infty,+\infty)$:

(4)
$$2^{\circ}. \quad \int_{-\infty}^{+\infty} f_{a\leftrightarrow b}(x;m,\sigma^2) \mathrm{d}x = 1.$$

If we use (4) we obtain the following value

(5)
$$k(a,b) = \frac{1}{\Phi(\frac{b-m}{\sigma}) - \Phi(\frac{a-m}{\sigma})},$$

where

$$\Phi(z) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{z} \exp\left(-\frac{t^2}{2}\right) \mathrm{d}t$$

is the standard normal distribution function corresponding to the standard normal random variable

$$Z = \frac{X-m}{\sigma}$$

The probability density function of the random variable Z has the form

$$f(z; 0, 1) = f(z) = \frac{1}{\sqrt{2\pi}} \exp\left(-\frac{t^2}{2}\right), \quad z \in (-\infty, +\infty).$$

Because

$$M(Z) = 0, \quad \text{Var} \, Z = 1,$$

it follows that Z has distribution
$$N(0, 1)$$
.

Moreover, we have the following relation

$$\begin{split} F(x) &= P(X < x) \\ &= \frac{1}{\sqrt{2\pi\sigma}} \int_{-\infty}^{x} \exp\left\{-\frac{1}{2} \left(\frac{y-m}{\sigma}\right)^{2}\right\} \mathrm{d}y \\ &= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\frac{x-m}{\sigma}} \exp\left(-\frac{t^{2}}{2}\right) \mathrm{d}t \\ &= \Phi\left(\frac{x-m}{\sigma}\right), \end{split}$$

as the relation

$$P(a \le X \le b) = P\left(\frac{a-m}{\sigma} \le \frac{X-m}{\sigma} \le \frac{b-m}{\sigma}\right)$$
$$= P\left(\frac{a-m}{\sigma} \le Z \le \frac{b-m}{\sigma}\right)$$
$$= \Phi\left(\frac{b-m}{\sigma}\right) - \Phi\left(\frac{a-m}{\sigma}\right),$$

for any real numbers a and b (finite or infinite, in which a < b).

Finally, the following properties of the function $\Phi(z)$:

$$\Phi(-\infty) = 0, \quad \Phi(0) = \frac{1}{2}, \quad \Phi(+\infty) = 1, \quad \Phi(-z) = 1 - \Phi(z)$$

play a vital role in our subsequent work.

From the relation of the definition (2.2), then when we have in view the relation (5), we obtain the following truncated normal probability density function

(6)
$$f_{a\leftrightarrow b}(x;m,\sigma^2) = \begin{cases} \frac{1}{\Phi(\frac{b-m}{\sigma}) - \Phi(\frac{a-m}{\sigma})} f(x;m,\sigma^2), & \text{if } a \le x \le b, \\ 0, & \text{if } x < a, \\ 0, & \text{if } x > b. \end{cases}$$

(7) $= \begin{cases} \frac{1}{A} f(x;m,\sigma^2), & \text{if } a \le x \le b, \\ 0, & \text{if } x < a, \\ 0, & \text{if } x > b. \end{cases}$

where

(8)
$$A = \Phi\left(\frac{b-m}{\sigma}\right) - \Phi\left(\frac{a-m}{\sigma}\right).$$

REMARK 1. A truncated probability distribution can be regarded as a conditional probability distribution in the sense that if X has an unrestricted distribution with probability density function f(x) then $f_{a\leftrightarrow b}(x)$, as defined above, is the probability density function which governs the behavior of X subject to the condition that X is known to lie in [a, b].

REMARK 2. It is easy to see from (6) that:

$$\lim_{a \to -\infty} f_{a \leftrightarrow b}(x; m, \sigma^2) = f_{\rightarrow b}(x; m, \sigma^2)$$

$$= \begin{cases} \frac{1}{\sqrt{2\pi} \sigma \cdot \Phi\left(\frac{b-m}{\sigma}\right)} \exp\left[-\frac{1}{2}\left(\frac{x-m}{\sigma}\right)^2\right], & \text{if } x \leq b, \\ 0, & \text{if } x > b, \end{cases}$$

$$= \begin{cases} \frac{1}{\Phi\left(\frac{b-m}{\sigma}\right)} \cdot f(x; m, \sigma^2), & \text{if } x \leq b, \\ 0, & \text{if } x > b, \end{cases}$$

$$\lim_{b \to +\infty} f_{a \leftrightarrow b}(x; m, \sigma^2) = f_{a \leftarrow}(x; m, \sigma^2) =$$

$$= \begin{cases} \frac{1}{\sqrt{2\pi} \sigma \left[1 - \Phi\left(\frac{a-m}{\sigma}\right)\right]} \exp\left[-\frac{1}{2}\left(\frac{x-m}{\sigma}\right)^2\right], & \text{if } x \geq a, \\ 0, & \text{if } x \leq a, \end{cases}$$

$$= \begin{cases} \frac{1}{1 - \Phi\left(\frac{a-m}{\sigma}\right)} f(x; m, \sigma^2), & \text{if } x \geq a, \\ 0, & \text{if } x \leq a, \end{cases}$$

and

$$\lim_{\substack{a \to -\infty \\ b \to +\infty}} f_{a \leftrightarrow b}(x; m, \sigma^2) = f(x; m, \sigma^2) = \frac{1}{\sqrt{2\pi\sigma}} \exp\left[-\frac{1}{2} \left(\frac{x-m}{\sigma}\right)^2\right], \quad \text{if } x \in \mathbb{R},$$

where $f_{\rightarrow b}(x; m, \sigma^2)$ is the probability density function when X has a normal distribution truncated to the right at X = b, $f_{a\leftarrow}(x; m, \sigma^2)$ is the probability density function when X has a normal distribution truncated to the left at

X = a, and $f(x; m, \sigma^2)$ is the probability density function when X has an ordinary normal distribution.

THEOREM 6. Let $X_{a\leftrightarrow b}$ be a random variable with a normal distribution truncated to the left at X = a and to the right at X = b. Then

(9)
$$E(X_{a\leftrightarrow b}) = m - \frac{\sigma^2}{A} \left[f(b; m, \sigma^2) - f(a; m, \sigma^2) \right],$$

where m = E(X), $\sigma^2 = Var(X)$, X is an ordinary normal random variable and A has the form (8).

Proof. Making use of the definition of $E(X_{a\leftrightarrow b})$ we obtain

(10)
$$E(X_{a\leftrightarrow b}) = \frac{1}{\sqrt{2\pi\sigma}A} \int_{a}^{b} x \exp\left\{-\frac{1}{2} \left(\frac{x-m}{\sigma}\right)^{2}\right\} \mathrm{d}x.$$

By making the change of variables

(11)
$$t = \frac{x - m}{\sigma},$$

we obtain

$$x - m = \sigma t, \quad \mathrm{d}x = \sigma \mathrm{d}t,$$

and (10) can be rewritten as follows

$$E(X_{a\leftrightarrow b}) = \frac{1}{\sqrt{2\pi\sigma}A} \int_{\frac{a-m}{\sigma}}^{\frac{b-m}{\sigma}} (m+\sigma t) \exp\left\{-\frac{t^2}{2}\right\} dt = \frac{1}{A}(\sigma I_2 + mI_1),$$

where, as is easily seen,

(12)
$$I_1 = \frac{1}{\sqrt{2\pi}} \int_{\frac{a-m}{\sigma}}^{\frac{b-m}{\sigma}} \exp\left\{-\frac{t^2}{2}\right\} dt = \Phi\left(\frac{b-m}{\sigma}\right) - \Phi\left(\frac{a-m}{\sigma}\right) = A$$

and

(13)
$$I_{2} = \frac{1}{\sqrt{2\pi}} \int_{\frac{a-m}{\sigma}}^{\frac{b-m}{\sigma}} t \exp\left\{-\frac{t^{2}}{2}\right\} dt$$
$$= -\frac{\exp\left\{-\frac{1}{2}\left(\frac{b-m}{\sigma}\right)^{2}\right\} - \exp\left\{-\frac{1}{2}\left(\frac{a-m}{\sigma}\right)^{2}\right\}}{\sqrt{2\pi}}$$
$$= -\sigma [f(b;m,\sigma^{2}) - f(a;m,\sigma^{2})].$$

From these last relations we obtain just the form (9) for the expected value of $X_{a\leftrightarrow b}$.

COROLLARY 7. For the random variables $X_{a\leftarrow}$, $X_{\rightarrow b}$ and X we have

$$E(X_{a\leftarrow}) = \lim_{b\to+\infty} E(X_{a\leftrightarrow b}) = m + \frac{\sigma^2}{1 - \Phi(\frac{a-m}{\sigma})} f(a; m, \sigma^2),$$
$$E(X_{\to b}) = \lim_{a\to-\infty} E(X_{a\leftrightarrow b}) = m - \frac{\sigma^2}{\Phi(\frac{b-m}{\sigma})} f(b; m, \sigma^2),$$

and

$$E(X) = \lim_{\substack{a \to -\infty \\ b \to +\infty}} E(X_{a \leftrightarrow b}) = m.$$

THEOREM 8. Let $X_{a\leftrightarrow b}$ be a random variable with a normal distribution truncated to the left at X = a and to the right at X = b. Then

(14)
$$E(X_{a\leftrightarrow b}^2) = m^2 + \sigma^2 - \frac{\sigma^2}{A} [(m+b)f(b;m,\sigma^2) - (m+a)f(b;m,\sigma^2)],$$

where A is a real number given in (8).

Proof. Making use of the definition of $E(X_{a\leftrightarrow b}^2)$ we have

$$E(X_{a\leftrightarrow b}^2) = \frac{1}{\sqrt{2\pi\sigma}A} \int_a^b x^2 \exp\left\{-\frac{1}{2} \left(\frac{x-m}{\sigma}\right)^2\right\} \mathrm{d}x.$$

By making the change of variable (11) this last relation can be rewritten as follows

(15)
$$E(X_{a\leftrightarrow b}^2) = \frac{m^2}{A}I_1 + \frac{2m\sigma}{A}I_2 + \frac{\sigma^2}{A}I_3,$$

where I_1 and I_2 are just the integrals (12) and (13) and for the integral I_3 we obtain

$$I_{3} = \frac{1}{\sqrt{2\pi}} \int_{\frac{a-m}{\sigma}}^{\frac{b-m}{\sigma}} t^{2} \exp\{-\frac{t^{2}}{2}\} dt$$

= $(m-b)f(b;m,\sigma^{2}) - (m-a)f(a;m,\sigma^{2}) + A$,

if we have in view the formula for integration by parts.

From (15), when we have in view these three values of integrals I_1, I_2 and I_3 , one obtains just the form (14) for the expected value $E(X^2_{a\leftrightarrow b})$.

COROLLARY 9. If $X_{a\leftrightarrow b}$ is a random variable with a normal distribution truncated to the left at X = a and to the right at X = b, then

$$Var(X_{a\leftrightarrow b}) = \sigma^{2} + \frac{(\sigma^{2})^{2}}{A^{2}} [f(b;m,\sigma^{2}) - f(a;m,\sigma^{2})]^{2} + \frac{\sigma^{2}}{A} [(m-b)f(b;m,\sigma^{2}) - (m-a)f(a;m,\sigma^{2})].$$

Proof. This follows immediately from the relation

$$\operatorname{Var}(X_{a \leftrightarrow b}) = E(X_{a \leftrightarrow b}^2) - [E(X_{a \leftrightarrow b})]^2$$

if we take into account the forms (9) and (14) of the moments $E(X_{a\leftrightarrow b})$ and $E(X_{a\leftrightarrow b}^2)$.

COROLLARY 10. For the random variables $X_{a\leftarrow}$, $X_{\rightarrow b}$ and X we have

$$\operatorname{Var}(X_{a\leftarrow}) = \lim_{b \to +\infty} \operatorname{Var}(X_{a\leftrightarrow b}) = \sigma^2 + \frac{\left(\sigma^2\right)^2 f^2(a;m,\sigma^2)}{\left[1 - \Phi\left(\frac{a-m}{\sigma}\right)\right]^2} - \frac{\sigma^2(m-a)f(a;m,\sigma^2)}{1 - \Phi\left(\frac{a-m}{\sigma}\right)},$$
$$\operatorname{Var}(X_{\to b}) = \lim_{a \to -\infty} \operatorname{Var}(X_{a\leftrightarrow b}) = \sigma^2 + \frac{\left(\sigma^2\right)^2 f^2(b;m,\sigma^2)}{\Phi^2\left(\frac{b-m}{\sigma}\right)} + \frac{\sigma^2(m-b)f(b;m,\sigma^2)}{\Phi\left(\frac{b-m}{\sigma}\right)},$$

and

$$\operatorname{Var}(X) = \lim_{\substack{a \to -\infty \\ b \to +\infty}} \operatorname{Var}(X_{a \leftrightarrow b}) = \sigma^2.$$

3. FISHER'S INFORMATION MEASURES FOR THE TRUNCATED NORMAL DISTRIBUTIONS

Let X be a continuous random variable which has an ordinary normal distribution with probability density function (2), that is,

$$f(x;m,\sigma^2) = \frac{1}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2}\left(\frac{x-m}{\sigma}\right)^2\right\}, \quad x \in \mathbb{R}, \ m \in \mathbb{R}, \ \sigma > 0.$$

THEOREM 11. If the random variable $X_{a\leftrightarrow b}$ has a normal distribution truncated to the left at X = a and to the right at X = b, that is, its probability distribution is of the form

(16)
$$f_{a \leftrightarrow b}(x; m, \sigma^2) = \begin{cases} \frac{1}{A} f(x; m, \sigma^2), & \text{if } a \le x \le b, \\ 0, & \text{if } x < a, \\ 0, & \text{if } x > b, \end{cases}$$

then the Fisher information measure corresponding to $X_{a\leftrightarrow b}$ has the following form

$$I_F(X_{a\leftrightarrow b}) = \frac{1}{\sigma^2} - \frac{f(b;m,\sigma^2) - f(a;m,\sigma^2)}{\sqrt{2\pi}\sigma A^2} + \frac{(m-b)f(b;m,\sigma^2) - (m-a)f(a;m,\sigma^2)}{\sigma^2 A} + \frac{f(b;m,\sigma^2) - f(a;m,\sigma^2)}{\sigma^2 A} + \frac{f(b;m,\sigma^2)}{\sigma^2 A} + \frac{f(b;m,\sigma^2) - f(a;m,\sigma^2)}{\sigma^2 A}$$

where

$$\begin{split} f(a;m,\sigma^2) &= \frac{1}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2}(\frac{a-m}{\sigma})^2\right\}, \quad f(a;m,\sigma^2) \in \mathbb{R}^+, \\ f(b;m,\sigma^2) &= \frac{1}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2}(\frac{b-m}{\sigma})^2\right\}, \quad f(b;m,\sigma^2) \in \mathbb{R}^+. \end{split}$$

Proof. Let $X_{a\leftrightarrow b}$ be a continuous random variable and its probability density function of the form (16), where $m \in D_m = \mathbb{R}$ is an unknown real parameter and $\sigma^2 \in \mathbb{R}^+$ is a known parameter.

For a such continuous random variable $X_{a\leftrightarrow b}$ the Fisher information measure has the form

(17)
$$I_F(X_{a\leftrightarrow b}) = I_{X_{a\leftrightarrow b}}(m)$$
$$= \int_a^b \left(\frac{\partial \ln f_{a\leftrightarrow b}(x;m,\sigma^2)}{\partial m}\right)^2 f_{a\leftrightarrow b}(x;m,\sigma^2) dx.$$

Using (17) and (16), we obtain

$$\ln f_{a\leftrightarrow b}(x;m,\sigma^{2}) = -\ln(\sqrt{2\pi}\sigma) - \ln\left[\Phi\left(\frac{b-m}{\sigma}\right) - \Phi\left(\frac{a-m}{\sigma}\right)\right] - \frac{1}{2}\left(\frac{x-m}{\sigma}\right)^{2}, \\ \frac{\partial \ln f_{a\leftrightarrow b}(x;m,\sigma^{2})}{\partial m} = \frac{\exp\{-\frac{1}{2}\left(\frac{a-m}{\sigma}\right)^{2}\} - \exp\{-\frac{1}{2}\left(\frac{b-m}{\sigma}\right)^{2}\}}{\sqrt{2\pi}\sigma A} + \frac{x-m}{\sigma}, \\ (18) \qquad I_{X_{a\leftrightarrow b}}(m) = \int_{a}^{b} \left(\frac{\partial \ln f_{a\leftrightarrow b}(x;m,\sigma^{2})}{\partial m}\right)^{2} f_{a\leftrightarrow b}(x;m,\sigma^{2}) dx \\ = \frac{\left[\exp\left\{-\frac{1}{2}\left(\frac{b-m}{\sigma}\right)^{2}\right\} - \exp\left\{-\frac{1}{2}\left(\frac{a-m}{\sigma}\right)^{2}\right\}\right]^{2}}{2\pi\sigma^{3}A^{3}} \hat{I}_{1} \\ + 2\frac{\exp\left\{-\frac{1}{2}\left(\frac{b-m}{\sigma}\right)^{2}\right\} - \exp\left\{-\frac{1}{2}\left(\frac{a-m}{\sigma}\right)^{2}\right\}}{\sqrt{2\pi}\sigma^{4}A^{2}} \hat{I}_{2} + \frac{1}{\sigma^{5}A}\hat{I}_{3},$$

where

9

$$\hat{I}_{1} = \frac{1}{\sqrt{2\pi}} \int_{a}^{b} \exp\left\{-\frac{1}{2} \left(\frac{x-m}{\sigma}\right)^{2}\right\} dx,$$
$$\hat{I}_{2} = \frac{1}{\sqrt{2\pi}} \int_{a}^{b} (x-m) \exp\left\{-\frac{1}{2} \left(\frac{x-m}{\sigma}\right)^{2}\right\} dx,$$
$$\hat{I}_{3} = \frac{1}{\sqrt{2\pi}} \int_{a}^{b} (x-m)^{2} \exp\left\{-\frac{1}{2} \left(\frac{x-m}{\sigma}\right)^{2}\right\} dx.$$

Because these three integrals have the values

$$\begin{split} \hat{I}_{1} &= \sigma I_{1} = \sigma A, \\ \hat{I}_{2} &= -\frac{\sigma^{2}}{\sqrt{2\pi}} \left[\exp\left\{-\frac{1}{2} \left(\frac{b-m}{\sigma}\right)^{2}\right\} - \exp\left\{-\frac{1}{2} \left(\frac{b-m}{\sigma}\right)^{2}\right\} \right] \\ &= \sigma^{2} I_{2} \\ &= -\sigma^{3} [f(b;m,\sigma^{2}) - f(b;m,\sigma^{2})], \\ \hat{I}_{3} &= \sigma^{3} \left[-\frac{b-m}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2} \left(\frac{b-m}{\sigma}\right)^{2}\right\} + \frac{a-m}{\sqrt{2\pi\sigma}} \exp\left\{-\frac{1}{2} \left(\frac{a-m}{\sigma}\right)^{2}\right\} \right] + \sigma^{3} A \\ &= \sigma^{3} I_{3} \\ &= \sigma^{3} A + \sigma^{3} \left[(m-b) f(b;m,\sigma^{2}) - (m-a) f(a;m,\sigma^{2}) \right], \end{split}$$

it is easy to see from (18) that for the quantity $I_{X_{a\leftrightarrow b}}(m)$ we have the following form

$$I_{X_{a\leftrightarrow b}}(m) = \frac{1}{\sigma^2} - \frac{f(b;m,\sigma^2) - f(a;m,\sigma^2)}{\sqrt{2\pi}\sigma A^2} + \frac{(b-m)f(b;m,\sigma^2) - (a-m)f(a;m,\sigma^2)}{\sigma^2 A}.$$

This completes the proof of the theorem.

$$I_{X_{a\leftarrow}}(m) = \lim_{b \to +\infty} I_{X_{a\leftrightarrow b}}(m) = \frac{1}{\sigma^2} - \frac{(m-a)f(a;m,\sigma^2)}{\sigma^2 \left[1 - \Phi\left(\frac{a-m}{\sigma}\right)\right]} - \frac{f^2(a;m,\sigma^2)}{\left[1 - \Phi\left(\frac{a-m}{\sigma}\right)\right]^2},$$

$$I_{X_{\to b}}(m) = \lim_{a \to -\infty} I_{X_{a\leftrightarrow b}}(m) = \frac{1}{\sigma^2} + \frac{(m-b)f(b;m,\sigma^2)}{\sigma^2 \Phi\left(\frac{b-m}{\sigma}\right)} - \frac{f^2(b;m,\sigma^2)}{\Phi^2\left(\frac{a-m}{\sigma}\right)},$$

$$I_X(m) = \lim_{\substack{a \to -\infty\\b \to +\infty}} I_{X_{a\leftrightarrow b}}(m) = \frac{1}{\sigma^2}.$$

REFERENCES

- [1] KULLBACK, S., Information Theory and Statistics, Wiley, New York, 1959.
- [2] MIHOC, I. and FĂTU, C. I., Fisher's Information Measures for the Truncated Normal Distribution (I), Analysis, Functional Equations, Approximation and Convexity, Proceedings of the Conference Held in Honour Professor E. Popoviciu on the Occasion of her 75-th Birthday, Cluj-Napoca, October 15–16, 1999, Editura Carpatica, pp. 171–182, 1999.
- [3] RAO, C. R., *Liniar Statistical Inference and Its Applications*, John Wiley and Sons, Inc., New York, 1965.
- [4] RÉNYI, A., Some fundamental questions of information theory, MTA III, Oszt. Közl., 10, pp. 251–282, 1960.
- [5] RÉNYI, A., Probability Theory, Akadémiai Kiado, Budapest, 1970.

Received by the editors: November 20, 2001.